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QUESTION 1

Which two statements are true about User Visible Entities (UVEs)? (Choose two.) 

A. UVES are limited to a single component. 

B. UVEs can span multiple components. 

C. UVEs may not require aggregation before being presented. 

D. UVEs may require aggregation before being presented. 

Correct Answer: BD 

Reference: https://www.juniper.net/documentation/en_US/contrail19/topics/task/configuration/analyticsapis-vnc.html 

 

QUESTION 2

Which network type is created in Neutron and mapped to physical networks? 

A. transient 

B. tenant 

C. provider 

D. management 

Correct Answer: C 

 

QUESTION 3

You are creating a new Contrail cluster within the Contrail Command setup wizard. 

In this scenario, which three parameters are required to create the cluster? (Choose three.) 

A. Container Registry 

B. cluster name 

C. NTP server 

D. Default Virtual Gateway 

E. Contrail version 

Correct Answer: ABE 

Reference: https://www.juniper.net/documentation/en_US/contrail19/topics/example/contrail-commandcluster.html 
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QUESTION 4

What is the proper order for creating a virtual network? 

A. Configure the IPAM, virtual network, DNS, and then the virtual machine. 

B. Configure the DNS, IPAM, virtual network, and then the virtual machine. 

C. Configure the virtual network, DNS, IPAM, and then the virtual machine. 

D. Configure the IPAM, DNS, virtual network, and then the virtual machine. 

Correct Answer: D 

Reference: https://www.juniper.net/documentation/en_US/contrail2.21/topics/task/configuration/creatingvirtual-network-
juniper-vnc.html 

 

QUESTION 5

You have a centrally routed and bridged topology. 

In this scenario, routing between subnets would be performed on which two types of devices? (Choose two.) 

A. leaf 

B. spine 

C. DC gateway 

D. bridge 

Correct Answer: AB 

Reference: https://www.juniper.net/documentation/en_US/release-independent/solutions/topics/task/configuration/
centrally-routed-overlay-cloud-dc-configuring.html 
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